

Journal of Statistics Applications & Probability An International Journal

http://dx.doi.org/10.18576/jsap/100105

Certain Results of (p, q)-Analogue of Aleph-Function with (p, q)-Derivative

Alok Jain¹, Altaf Ahmad Bhat^{2,*}, Renu Jain¹ and D. K. Jain³

¹School of Mathematics and Allied Sciences, Jiwaji University, Gwalior (M.P.), 474011, India

²Department of Mathematical Sciences, Islamic University of Science and Technology, Pulwama (J and K), 192122, India ³Madhav Institute of Technology and Science, Gwalior (M.P.), 474005, India

Received: 23 Oct. 2019, Revised: 23 Dec. 2019, Accepted: 24 Jan. 2020 Published online: 1 Mar. 2021

Abstract: In this paper, the authors have derived the (p,q)-analogue of Aleph-Function with (p,q)-derivative by using the generalization of the Gamma and Beta functions. Some particular cases of these results, in terms of (p,q)-analogue of G-Function, were established earlier by Swati et al. and I, H-functions and derived earlier by Altaf et al.

Keywords: (p,q)-analogue of Aleph-function, (p,q)-analogue of I-function, (p,q)-analogue of G-function, (p,q)-derivatives, (p,q)-Gamma function

1 Introduction

The (p,q)-shifted factorial is based on the concept of twin-basic number $[n]_{(p,q)} = \frac{(p^n - q^n)}{(p-q)}$. The basic number occurs in the theory of two parameter quantum algebras and has also been introduced in combinatorics by Jagannathan et al. [1]. Several properties of this number were studied briefly in [2]. Around the same time as [2], Brodimas et al. [3] and Arik et al. [4] also, independently, introduced (p,q)-number in the physics literature, but in a very much less detailed manner. (p,q)-identities are, thus, derived, by doubling the number of parameters, which offers more choices for applications. It has been observed that many of q-results can be generalized directly to (p,q)-results. If we have (p,q)-results, the q-results can be obtained more easily by mere substitutions for the parameters instead of any limiting process, as required in the usual q-theory [5]. This also provides a new look for q-identities.

The q-deformed algebra [6,7] and their generalization to (p,q)-analogue [2,8] have attracted much attention of the researchers to increase the accessibility of different dimensions of (p,q)-analogue algebra. The main reason is that these topics stand for real life problems in mathematics and physics, discussed later in the theory of quantum calculus.

In the present paper, the authors attention is towards the (p,q)-analogue of Aleph-Function with (p,q)-derivative by using the generalization of the Gamma and Beta functions, namely (p,q)-Gamma and Beta functions.

From the theory of basic hypergeometric series [9], some basic definitions are given below:

The q-shifted factorial is given by

$$(a,q)_n = \begin{bmatrix} 1, & n=0\\ (1-a)(1-aq)\dots(1-aq^{n-1}), & n=1,2,3,\dots \end{bmatrix}$$
(1)

with $(a_1, a_2, ..., a_k; q)_n = (a_1; q)_n (a_2; q)_n ... (a_k; q)_n$.

The q-gamma function was first introduced by Thomae and later by Jackson. The q-analogue of gamma function, which is defined by F.H. Jackson [10], is given by

$$\Gamma_q(x) = \frac{(q;q)_{\infty}(1-q)^{1-x}}{(q^x;q)_{\infty}}, 0 < q < 1.$$

^{*} Corresponding author e-mail: altaf.bhat@islamicuniversity.edu.in



Jackson gave the general definition that is given below:

where

$$\int_{a}^{b} f(t)d_{q}t = \int_{0}^{b} f(t)d_{q}t - \int_{0}^{a} f(t)d_{q}t,$$
$$\int_{0}^{a} f(t)d_{q}t = a(1-q)\sum_{n=0}^{\infty} f(aq^{n})q^{n}.$$

Jackson also defined an integral, i.e.

$$\int_0^\infty f(t)d_qt = (1-q)\sum_{n=-\infty}^\infty f(aq^n)q^n$$

P. Njionou Sadjang [11] introduced, the so-called, the shifted factorial as follows:

$$(x \ominus a)_{p,q}^{n} = (x-a)(px-aq)(p^{2}x-aq^{2})...(xp^{n-1}-aq^{n-1})$$

$$(x \oplus a)_{p,q}^{n} = (x+a)(px+aq)(p^{2}x+aq^{2})...(xp^{n-1}+aq^{n-1})$$
(2)
(3)

$$x \oplus a)_{p,q}^{n} = (x+a)(px+aq)(p^{2}x+aq^{2})...(xp^{n-1}+aq^{n-1})$$
(3)

These definitions are extended as follows:

$$(a \ominus b)_{p,q}^n = \prod_{k=0}^{\infty} (ap^k - bq^k) \tag{4}$$

$$(a \oplus b)_{p,q}^n = \prod_{k=0}^{\infty} (ap^k + bq^k) \tag{5}$$

Let x be a complex number, the (p,q)-Gamma function is defined by P. Njionou Sadjang [12], where

$$\Gamma_{p,q}(x) = \frac{(p \ominus q)_{p,q}^{\infty}}{(p^x \ominus q^x)_{p,q}^{\infty}} (p-q)^{1-x}, 0 < q < p$$
(6)

If we put p = 1, then $\Gamma_{p,q}$ reduces to Γ_q .

The (p, q)-Gamma function fulfils the following fundamental relation

$$\Gamma_{p,q}(x+1) = [x]_{p,q}\Gamma_{p,q}(x)$$

If n is a nonnegative integer, it follows from above that

$$\Gamma_{p,q}(x+1) = [x]_{p,q}!$$

It can be also easily seen from the definition that

$$\Gamma_{p,q}(n+1) = \frac{(p \ominus q)_{p,q}^n}{(p-q)_{p,q}^n}$$

P. Njionou Sadjang [12] also defined the (p,q)-Beta function as

$$B_{p,q}(x,y) = \frac{\Gamma_{p,q}(x)\Gamma_{p,q}(y)}{\Gamma_{p,q}(x+y)}$$

The (p,q)-derivative of the function f(x) is defined as follows [2,6]:

$$D_{p,q}f(x) = \frac{f(px) - f(qx)}{(p-q)x}, x \neq 0$$
(7)

Where $D_{p,q}f(0) = f'(0)$, provided that f(x) is differentiable at x = 0. The (p,q)-numbers $[n]_{p,q}$ and (p,q) factorials $[n]_{p,q}$! are defined [11] as:

$$[n]_{p,q} = \frac{p^n - q^n}{(p-q)}$$

and

$$[n]_{p,q}! = [1]_{p,q}[2]_{p,q}...[n]_{p,q},$$

respectively. Also it happens that $D_{p,q}(x^n) = [n]_{p,q}x^{n-1}$. **Remark 1:** $D_{p,q}(x)$ reduces to Hahn Derivative $d_q f(x)$ iff $p \to 1$.

© 2021 NSP Natural Sciences Publishing Cor.

46

Remark 2: $[n]_{p,q} = [n]_q$ (Hahn Basic Number) iff $p \to 1$. where $[n]_q = \frac{1-q^n}{1-q}, q \neq 1$. Note:

$$D_{p,q}^{n}(x^{\mu}) = \frac{\Gamma_{p,q}(\mu+1)}{\Gamma_{p,q}(\mu-n+1)} x^{\mu-n}, Re(\mu) + 1 > 0$$

$$I_{p,q}^{n}(x^{\mu}) = \frac{\Gamma_{p,q}(\mu+1)}{\Gamma_{p,q}(\mu+n+1)} x^{\mu+n}, Re(\mu) + 1 > 0$$
(8)
(9)

B.K. Dutta et. al. [13] defined the q-analogue of Aleph Function in terms of Mellin-Barnes type contour integrals in the following manner:

$$\begin{aligned} & \aleph_{p_{i},q_{i};\tau_{i};r}^{m,n} \left[\left(z;q \left| \substack{(a_{j},A_{j})_{1,n}; [\tau_{i}(a_{ji},A_{ji})]_{n+1,p_{i}}}{(b_{j},B_{j})_{1,m}; [\tau_{i}(b_{ji},B_{ji})]_{m+1,q_{i}}} \right) \right] \\ &= \frac{1}{2\pi i} \int_{L} \frac{\prod_{j=1}^{m} G(q^{b_{j}+B_{j}s}) \prod_{j=1}^{n} G(q^{1-a_{j}-A_{j}s}) \pi z^{-s}}{\sum_{i=1}^{r} \tau_{i} [\prod_{j=m+1}^{q_{i}} G(q^{1-b_{ji}-B_{ji}s}) \prod_{j=n+1}^{p_{i}} G(q^{a_{ji}+A_{ji}s}) G(q^{s}) G(q^{s}) G(q^{1-s}) sin\pi s]} ds \end{aligned}$$
(10)

where $A_j, B_j, A_{ji}, and B_{ji}$ are real and positive, $\tau_i > 0$, for all $i, a_j, b_j, a_{ji}, and b_{ji}$ are complex numbers and

$$G(q^{\alpha}) = \prod_{n=0}^{\infty} (1 - q^{\alpha+n})^{-1} = \frac{1}{(q^{\alpha}; q)_{\infty}}$$

where L is the contour of integration, running from $-i\infty$ to $+i\infty$ in such a manner that all poles of $G(q^{b_j+B_js})$; $1 \le j \le m$ are on the right of the path and those of $G(q^{1-a_j-A_js})$; $1 \le j \le n$, are on the left. The integral converges if $Re[slog(z) - logsin\pi s] < 0$, for large values of |s| are on contour L.

Setting $\tau_i = 1$, in (10) we get basic analogue of I-Function in terms of the Mellin-Barnes type basic contour integral introduced by Saxena et al. [14] as:

$$I(z) = I_{p_i,q_i;r}^{m,n} \left[\left(z; q \left| \substack{(a_j,A_j)_{1,n}; (a_{ji},A_{ji})_{n+1,p_i}}{(b_j,B_j)_{1,m}; (b_{ji},B_{ji})_{m+1,q_i}} \right) \right] \right]$$

$$= \frac{1}{2\pi i} \int_{L} \frac{\prod_{j=1}^{m} G(q^{b_j+B_js}) \prod_{j=1}^{n} G(q^{1-a_j-A_js}) \pi z^{-s}}{\sum_{i=1}^{r} [\prod_{j=m+1}^{q_i} G(q^{1-b_{ji}-B_{ji}s}) \prod_{j=n+1}^{p_i} G(q^{a_{ji}+A_{ji}s}) G(q^s) G(q^{1-s}) sin\pi s]} ds$$
(11)

Setting r = 1, $p_i = p$, $q_i = q$, in equation (11) we get q-analogue of H-Function defined by Saxena et al. [14] as follows:

$$H_{p,q}^{m,n}\left[\left(z;q\left|\binom{(a_{j},A_{j})_{1,p}}{(b_{j},B_{j})_{1,q}}\right)\right] = \frac{1}{2\pi i}\int_{L}\frac{\prod_{j=1}^{m}G(q^{b_{j}+B_{j}s})\prod_{j=1}^{n}G(q^{1-a_{j}-A_{j}s})\pi z^{-s}}{\prod_{j=m+1}^{q}G(q^{1-b_{j}-B_{j}s})\prod_{j=n+1}^{p}G(q^{a_{j}+A_{j}s})G(q^{s})G(q^{1-s})sin\pi s}ds$$
(12)

Further, if we put $A_j = B_j = 1$, equation (12) is simplified to the basic analogue of Meijer's G-Function given by Saxena et al. [14].

$$G_{p,q}^{m,n}\left[\left(z;q\left|\substack{a_{1},a_{2},...,a_{p}\\b_{1},b_{2},...,b_{q}}\right)\right] = \frac{1}{2\pi i} \int_{L} \frac{\prod_{j=1}^{m} G(q^{b_{j}+s})\prod_{j=1}^{n} G(q^{1-a_{j}-s})\pi z^{-s}}{\prod_{j=m+1}^{q} G(q^{1-b_{j}-s})\prod_{j=n+1}^{p} G(q^{a_{j}+s})G(q^{s})G(q^{1-s})sin\pi s} ds$$
(13)

E NS

Altaf et al. [15] gave the alternative definition of q-analogue of Aleph-function by using q-Gamma function as:

$$\begin{split} & \aleph_{p_{i},q_{i};\tau_{i};r}^{m,n} \left[\left(z;q \left| \substack{(a_{j},A_{j})_{1,n}; [\tau_{i}(a_{ji},A_{ji})]_{n+1,p_{i}} \\ (b_{j},B_{j})_{1,m}; [\tau_{i}(b_{ji},B_{ji})]_{m+1,q_{i}}} \right) \right] \\ &= \frac{1}{2\pi i} \int_{L} \frac{\prod_{j=1}^{m} \Gamma_{q}(b_{j}+B_{j}s) \prod_{j=1}^{n} \Gamma_{q}(1-a_{j}-A_{j}s)\pi z^{-s}}{\sum_{i=1}^{r} \tau_{i} [\prod_{j=m+1}^{q_{i}} \Gamma_{q}(1-b_{ji}-B_{ji}s) \prod_{j=n+1}^{p_{i}} \Gamma_{q}(a_{ji}+A_{ji}s)\Gamma_{q}(s)\Gamma_{q}(1-s)sin\pi s]} ds \end{split}$$

Where L is the contour of integration running from $-i\infty$ to $+i\infty$ in such a manner so that all poles of $\Gamma_q(b_j+B_js)$; $1 \le j \le m$ are to right of the path and those of $\Gamma_q(1-a_j-A_js)$; $1 \le j \le n$, are on the left. The integral converges if $Re[slog(z) - logsin\pi s] < 0$, for large values of |s| are on contour L.

2 Main Results

(A) In this section we will find the (p,q)-analogue of Aleph-function. Swati Pathak and Renu Jain [16] defined the (p,q)-Gamma function as follows:

$$\Gamma_{p,q}(x) = \frac{((p,q); (p,q))_{\infty}(p-q)^{1-x}}{((p^x, q^x); (p,q))_{\infty}}, (0
(14)$$

When x = n + 1 with a non-negative integer, this definition is simplified to

$$\Gamma_{p,q}(n+1) = [n]_{p,q}! \tag{15}$$
And

 $\Gamma_{p,q}(x+1) = [x]_{p,q}\Gamma_{p,q}(x),$

we can deduce that $\Gamma_{p,q}(1) = 1$.

Now we shall make use of (p,q)-Gamma function for defining (p,q)-analogue of Aleph-function, which is as follows:

$$\begin{split} & \Re_{p_{i},q_{i}+1;\tau_{i}r}^{m,n} \left[\left(z(p-q)^{\sum_{t=1}^{m}\beta_{t}-\sum_{t=1}^{n}\alpha_{t}+\sum_{i=1}^{r}\tau_{i}[\sum_{t=m+1}^{q_{i}}\beta_{ti}-\sum_{t=n+1}^{p_{i}}\alpha_{ti}];(p,q) \left| \begin{array}{c} (a_{j},A_{j})_{1,n},...,[\tau_{i}(a_{ji},A_{ji})]_{n+1,p_{i}} \\ (b_{j},B_{j})_{1,m};[\tau_{i}(b_{ji},B_{ji})]_{m+1,q_{i}}(1,1) \end{array} \right) \right] \\ & = \frac{1}{2\pi i} \int_{L} \frac{\prod_{j=1}^{m}G(p^{b_{j}+B_{j}s},q^{b_{j}+B_{j}s})\prod_{j=1}^{n}G(p^{1-a_{j}-A_{j}s},q^{1-a_{j}-A_{j}s})(p-q)^{s[\sum_{t=1}^{m}B_{t}-\sum_{t=1}^{n}A_{t}+\sum_{i=1}^{r}\tau_{i}[\sum_{t=m+1}^{q_{i}}B_{ti}-\sum_{t=n+1}^{p_{i}}A_{ti}]]\pi z^{-s}}{\sum_{i=1}^{r}\tau_{i}[\prod_{j=m+1}^{q_{i}}G(p^{1-b_{ji}-B_{ji}s},q^{1-b_{ji}-B_{ji}s})\prod_{j=n+1}^{p_{i}}G(p^{a_{ji}+A_{ji}s},q^{a_{ji}+A_{ji}s})G(p^{s},q^{s})G(p^{1-s},q^{1-s})sin\pi s]} \end{split}$$
(16)

On multiplying equation (16) by

 $(p-q)^{\sum_{t=1}^{n} a_t - \sum_{t=1}^{m} b_t + m + n - 1 + \sum_{i=1}^{r} \tau_i [\sum_{t=n+1}^{p_i} A_{ti} - \sum_{t=m+1}^{q_i} B_{ti} - A_i]} G(p,q)^{\sum_{t=1}^{r} np_t + q_t - (m+n-1)} G(p,q)^{\sum_{t=1}^{n} p_t + q_t - (m+n-1)} G(p,q)^{\sum_{t=1}^{n} p_t - p_t} G(p,q)^{\sum_{t=1}^{n} p_t - p_t} G(p,q)^{\sum_{t=1}^{n} p$

and then making use of identity

$$\Gamma_{p,q}(x) = \frac{G(p^x, q^x)}{(p-q)^{x-1}G(p,q)}, |\frac{q}{p}| < 1$$
(17)

where

$$G(p^{\alpha}, q^{\alpha}) = \prod_{n=0}^{\infty} (p^{\alpha+n}, q^{\alpha+n})^{-1}$$

$$= \frac{1}{((p^{\alpha}, q^{\alpha}); (p, q))_{\infty}}$$
(18)

The R.H.S. of equation (10) becomes

$$=\frac{1}{2\pi i}\int_{L}\frac{\prod_{j=1}^{m}\Gamma_{p,q}(b_{j}+B_{j}s)\prod_{j=1}^{n}\Gamma_{p,q}(1-a_{j}-A_{j}s)\pi z^{-s}}{\sum_{i=1}^{r}\tau_{i}[\prod_{j=m+1}^{q_{i}}\Gamma_{p,q}(1-b_{ji}-B_{ji}s)\prod_{j=n+1}^{p_{i}}\Gamma_{p,q}(a_{ji}+A_{ji}s)\Gamma_{p,q}(s)\Gamma_{p,q}(1-s)sin\pi s]}ds$$

Special Cases:

Taking $\tau_i = 1$, in above equation we will get the (p,q)-analogue of I-Function defined by Altaf et al. [17] as follows:

$$I_{p_{i},q_{i};r}^{m,n}\left[\left(z;(p,q)\left|\binom{(a_{j},A_{j})_{1,n};(a_{ji},A_{ji})_{n+1,p_{i}}}{(b_{j},B_{j})_{1,m};(b_{ji},B_{ji})_{m+1,q_{i}}}\right)\right]\right]$$

$$=\frac{1}{2\pi i}\int_{L}\frac{\prod_{j=1}^{m}\Gamma_{p,q}(b_{j}+B_{j}s)\prod_{j=1}^{n}\Gamma_{p,q}(1-a_{j}-A_{j}s)\pi z^{-s}}{\sum_{i=1}^{r}[\prod_{j=m+1}^{q_{i}}\Gamma_{p,q}(1-b_{ji}-B_{ji}s)\prod_{j=n+1}^{p_{i}}\Gamma_{p,q}(a_{ji}+A_{ji}s)\Gamma_{p,q}(s)\Gamma_{p,q}(1-s)sin\pi s]}ds$$
(19)

Taking r = 1, in equation (19) we will get the (p,q)-analogue of Fox's H-Function defined by Altaf et al. [17] as follows: $H_{P,Q}^{m,n} \left[\left(z; (p,q) \left| \begin{pmatrix} a_j, A_j \end{pmatrix}_{1,P} \\ (b_j, B_j)_{1,Q} \end{pmatrix} \right] \right]$ $\prod_{i=1}^{m} \Gamma_{p,q}(b_i + B_i s) \prod_{i=1}^{n} \Gamma_{p,q}(1 - a_i - A_i s) \pi z^{-s} ds$

$$= \frac{1}{2\pi i} \int_{L} \frac{\prod_{j=1}^{n} I_{p,q}(b_j + B_j s)}{\prod_{j=n+1}^{n} \Gamma_{p,q}(1 - b_j - B_j s)} \prod_{j=n+1}^{p} \Gamma_{p,q}(a_j + A_j s) \Gamma_{p,q}(s) \Gamma_{p,q}(1 - s) sin\pi s$$
(20)

If we take $A_j = B_j = 1$, in equation (20) we will get the (p,q)-analogue of Meijer's G-Function defined by Swati Pathak et al. [16] as follows:

$$G_{P,Q}^{m,n} \left[\left(z; (p,q) \left| \begin{array}{c} a_1, a_2, \dots, a_P \\ b_1, b_2, \dots, b_Q \end{array} \right) \right] \\ = \frac{1}{2\pi i} \int_{L} \frac{\prod_{j=1}^{m} \Gamma_{p,q}(b_j + s) \prod_{j=1}^{n} \Gamma_{p,q}(1 - a_j - s)\pi z^{-s} ds}{\prod_{j=m+1}^{m} \Gamma_{p,q}(1 - b_j - s) \prod_{j=n+1}^{p} \Gamma_{p,q}(a_j + s)\Gamma_{p,q}(s)\Gamma_{p,q}(1 - s)sin\pi s}$$

$$(21)$$

Put p = 1, the above results of (p,q)-analogue change into well known results of basic analogues of Aleph-function, I-function, H-function and G-function [15].

(B) In this section, we will evaluate the (p,q)-derivative operator involving (p,q)-analogue of Aleph-function. **Theorem 1**: Let the parameters p_i, q_i be non-negative integers satisfying the inequality $0 \le n \le p_i, 0 \le m \le q_i$ and $\tau_i > 0$; i = 1, 2, 3, ..., r is finite and a_j, b_j, a_{ji} and b_{ji} are complex numbers, then

$$zD_{p,q}\left[z^{1-a_{1}} \aleph_{p_{i},q_{i};\tau_{i};r}^{m,n}\left[\left(z;(p,q) \left| \begin{array}{c} (a_{j},1)_{1,n},...,[\tau_{i}(a_{ji},1)]_{n+1,p_{i}} \\ (b_{j},1)_{1,m},...,[\tau_{i}(b_{ji},1)]_{m+1,q_{i}} \end{array}\right)\right]\right]$$

$$= z^{1-a_{1}} \aleph_{p_{i},q_{i};\tau_{i};r}^{m,n}\left[\left(z;(p,q) \left| \begin{array}{c} (a_{1}-1,1)(a_{j},1)_{2,n},...,[\tau_{i}(a_{ji},1)]_{n+1,p_{i}} \\ (b_{j},1)_{1,m},...,[\tau_{i}(b_{ji},1)]_{m+1,q_{i}} \end{array}\right)\right]$$
(22)

Where $z \neq 0, 0 < q < p$ and $\omega = \sqrt{-1}$. **Proof:** To prove theorem (1), when $a_1 > 0$, we apply equation (8)

$$L.H.S. = zD_{p,q} \left[z^{1-a_1} \frac{1}{2\pi\omega} \int_{L} \frac{\prod_{j=1}^{m} \Gamma_{p,q}(b_j+s) \prod_{j=1}^{n} \Gamma_{p,q}(1-a_j-s)\pi z^{-s} ds}{\sum_{i=1}^{r} \tau_i [\prod_{j=m+1}^{q_i} \Gamma_{p,q}(1-b_{ji}-s) \prod_{j=n+1}^{p_i} \Gamma_{p,q}(a_{ji}+s)\Gamma_{p,q}(s)\Gamma_{p,q}(1-s)sin\pi s]} \right]$$

$$= z \frac{1}{2\pi\omega} \int_{L} \frac{\prod_{j=1}^{m} \Gamma_{p,q}(b_j+s) \prod_{j=1}^{n} \Gamma_{p,q}(1-a_j-s)\pi D_{p,q}[z^{1-a_1-s}]ds}{\sum_{i=1}^{r} \tau_i [\prod_{j=m+1}^{q_i} \Gamma_{p,q}(1-b_{ji}-s) \prod_{j=n+1}^{p_i} \Gamma_{p,q}(a_{ji}+s)\Gamma_{p,q}(s)\Gamma_{p,q}(1-s)sin\pi s]}$$

$$=\frac{1}{2\pi\omega}\int_{L}\frac{\prod_{j=1}^{m}\Gamma_{p,q}(b_{j}+s)\prod_{j=1}^{n}\Gamma_{p,q}(1-a_{j}-s)\pi[1-a_{1}-s]_{p,q}z^{1-a_{1}-s}ds}{\sum_{i=1}^{r}\tau_{i}[\prod_{j=m+1}^{q_{i}}\Gamma_{p,q}(1-b_{ji}-s)\prod_{j=n+1}^{p_{i}}\Gamma_{p,q}(a_{ji}+s)\Gamma_{p,q}(s)\Gamma_{p,q}(1-s)sin\pi s]}$$

Since

$$\Gamma_{p,q}(1+a) = \frac{p^a - q^a}{p - q} \Gamma_{p,q}(a) = [a]_{p,q} \Gamma_{p,q}(a)$$

$$\therefore [1 - a_1 - s]_{p,q} \Gamma_{p,q}(1 - a_1 - s) = \Gamma_{p,q}(1 - (a_1 - 1) - s)$$

Thus

$$L.H.S. = \frac{1}{2\pi\omega} \int_{L} \frac{\prod_{j=1}^{m} \Gamma_{p,q}(b_j+s)\Gamma_{p,q}(1-(a_1-1)-s) \prod_{j=2}^{n} \Gamma_{p,q}(1-a_j-s)\pi z^{-s} z^{1-a_1} ds}{\sum_{i=1}^{r} \tau_i [\prod_{j=m+1}^{q_i} \Gamma_{p,q}(1-b_{ji}-s) \prod_{j=n+1}^{p_i} \Gamma_{p,q}(a_{ji}+s)\Gamma_{p,q}(s)\Gamma_{p,q}(1-s)sin\pi s]}$$

$$= z^{1-a_1} \mathfrak{K}_{p_i,q_i;\tau_i;r}^{m,n} \left[\left(z; (p,q) \middle| \begin{matrix} (a_1-1,1)(a_j,1)_{2,n},...,[\tau_i(a_{ji},1)]_{n+1,p_i} \\ (b_j,1)_{1,m},...,[\tau_i(b_{ji},1)]_{m+1,q_i} \end{matrix} \right) \right]$$

Theorem 2: Let parameters p_i and q_i be non-negative integers satisfying the inequality $0 \le n \le p_i, 0 \le m \le q_i$ and $\tau_i > 0; i = 1, 2, 3, \frac{1}{2}, r$ is finite, and A_j, B_j, B_{ji} and B_{ji} are positive real numbers, and a_j, b_j, a_{ji} and b_{ji} are complex numbers, then

$$D_{p,q}^{\mu} \left[\mathfrak{K}_{p_{i},q_{i};\tau_{i};r}^{m,n} \left[\left(px^{\lambda};(p,q) \left| \substack{(a_{j},A_{j})_{1,n};(a_{ji},A_{ji})_{n+1,p_{i}}}{(b_{j},B_{j})_{1,m};(b_{ji},B_{ji})_{m+1,q_{i}}} \right) \right] \right] \\ = \frac{(-1)^{\mu}x^{-\mu}}{(pq)^{\mu(\mu-1)/2}} \mathfrak{K}_{p_{i},q_{i}+1;r}^{m+1,n} \left[\left(px^{\lambda};(p,q) \left| \substack{(a_{j},A_{j})_{1,n};(a_{ji},A_{ji})_{n+1,p_{i}}}{(\mu,\lambda)(b_{j},B_{j})_{1,m};(b_{ji},B_{ji})_{m+1,q_{i}}} (0,\lambda) \right) \right] \right]$$
(23)

Where $x \neq 0, 0 < q < p$, and $\omega = \sqrt{-1}$. **Proof:** For $\lambda \ge 0$, the left side of above equation becomes

$$L.H.S. = D_{p,q}^{\mu} \left[\aleph_{p,qi;\tau_i;r}^{m,n} \left[\left(px^{\lambda}; (p,q) \middle| (a_j, A_j)_{1,n}; [\tau_i(a_{ji}, A_{ji})]_{n+1,p_i} \right) \right] \right] \right]$$
$$= \frac{1}{2\pi\omega} \int_{L} \frac{\prod_{j=1}^{m} \Gamma_{p,q}(b_j + B_j s) \prod_{j=1}^{n} \Gamma_{p,q}(1 - a_j - A_j s) \pi D_{p,q}[(px^{\lambda})^{-s}] ds}{\sum_{i=1}^{r} \tau_i [\prod_{j=m+1}^{q_i} \Gamma_{p,q}(1 - b_{ji} - B_{ji} s) \prod_{j=n+1}^{p_i} \Gamma_{p,q}(a_{ji} + A_{ji} s) \Gamma_{p,q}(s) \Gamma_{p,q}(1 - s) sin\pi s]}$$

That is

$$= \frac{1}{2\pi\omega} \int_{L} \frac{\prod_{j=1}^{m} \Gamma_{p,q}(b_{j} + B_{j}s) \prod_{j=1}^{n} \Gamma_{p,q}(1 - a_{j} - A_{j}s)\pi\Gamma_{p,q}(\lambda s + \mu)p^{-s}x^{-\lambda s - \mu}ds}{\sum_{i=1}^{r} \tau_{i} [\prod_{j=m+1}^{q_{i}} \Gamma_{p,q}(1 - b_{ji} - B_{ji}s) \prod_{j=n+1}^{p_{i}} \Gamma_{p,q}(a_{ji} + A_{ji}s)\Gamma_{p,q}(\lambda s + 1)(pq)^{\mu\lambda s}\Gamma_{p,q}(s)\Gamma_{p,q}(1 - s)sin\pi s]}$$

$$= \frac{(-1)^{\mu_{x} - \mu}}{(pq)^{\mu(\mu-1)/2}} \frac{1}{2\pi\omega} \int_{L} \frac{\Gamma_{p,q}(\mu + \lambda s) \prod_{j=1}^{m} \Gamma_{p,q}(b_{j} + B_{j}s) \prod_{j=n+1}^{n} \Gamma_{p,q}(1 - a_{j} - A_{j}s)\pi \frac{p_{i}\lambda}{(pq)^{-\mu\lambda}}^{-s}}{\prod_{j=n+1}^{s} \Gamma_{p,q}(a_{ji} + A_{ji}s)\Gamma_{p,q}(s)\Gamma_{p,q}(1 - s)sin\pi s]}$$

$$= \frac{(-1)^{\mu} x^{-\mu}}{(pq)^{\mu(\mu-1)/2}} \,\mathfrak{K}_{p_i,q_i+1;r}^{m+1,n} \left[\left(p x^{\lambda}; (p,q) \left| \begin{matrix} (a_j,A_j)_{1,n}; (a_{ji},A_{ji})_{n+1,p_i} \\ (\mu,\lambda)(b_j,B_j)_{1,m}; (b_{ji},B_{ji})_{m+1,q_i}(0,\lambda) \end{matrix} \right) \right]$$

© 2021 NSP Natural Sciences Publishing Cor.

SP

Hence the result.

Special Cases:

By putting $\tau_i = 1$ in (23) and (24), we get the (p,q)-analogue of I-function defined by Altaf et al.[17] as mentioned below:

$$zD_{p,q}\left[z^{1-a_{1}}I_{p_{i},q_{i};r}^{m,n}\left[\left(z;(p,q)\left|\binom{(a_{j},1)_{1,n};(a_{ji},1)_{n+1,p_{i}}}{(b_{j},1)_{1,m};(b_{ji},1)_{m+1,q_{i}}}\right)\right]\right]$$

$$=z^{1-a_{1}}I_{p_{i},q_{i};r}^{m,n}\left[\left(z;(p,q)\left|\binom{(a_{1}-1,1)(a_{j},1)_{2,n};(a_{ji},1)_{n+1,p_{i}}}{(b_{j},1)_{1,m};(b_{ji},1)_{m+1,q_{i}}}\right)\right]\right]$$

$$D_{p,q}^{\mu}\left[I_{p_{i},q_{i};r}^{m,n}\left[\left(px^{\lambda};(p,q)\left|\binom{(a_{j},A_{j})_{1,n};(a_{ji},A_{ji})_{n+1,p_{i}}}{(b_{j},B_{j})_{1,m};(b_{ji},B_{ji})_{m+1,q_{i}}}\right)\right]\right]$$

$$=\frac{(-1)^{\mu}x^{-\mu}}{(pq)^{\mu(\mu-1)/2}}I_{p_{i},q_{i}+1;r}^{m+1,n}\left[\left(\frac{px^{\lambda}}{(pq)^{-\mu\lambda}};(p,q)\left|\binom{(a_{j},A_{j})_{1,n};(a_{ji},A_{ji})_{n+1,p_{i}}}{(\mu,\lambda)(b_{j},B_{j})_{1,m};(b_{ji},B_{ji})_{m+1,q_{i}}}(0,\lambda)\right)\right]$$
(25)

By putting p = 1, the above results of (p,q)-analogue change into well known results of basic analogue of I-function [18] as mentioned below:

$$zD_{q}\left[z^{1-a_{1}}I_{p_{i},q_{i};r}^{m,n}\left[\left(z;q\left|\binom{(a_{j},1)_{1,n};(a_{j}i,1)_{n+1,p_{i}}}{(b_{j},1)_{1,m};(b_{j}i,1)_{m+1,q_{i}}}\right)\right]\right]$$

$$=z^{1-a_{1}}I_{p_{i},q_{i};r}^{m,n}\left[\left(z;q\left|\binom{(a_{1}-1,1)(a_{j},1)_{2,n}(a_{j}i,1)_{n+1,p_{i}}}{(b_{j},1)_{1,m};(b_{j}i,1)_{m+1,q_{i}}}\right)\right]\right]$$

$$D_{q}^{\mu}\left[I_{p_{i},q_{i};r}^{m,n}\left[\left(x^{\lambda};q\left|\binom{(a_{j},A_{j})_{1,n};(a_{j}i,A_{j}i)_{n+1,p_{i}}}{(b_{j},B_{j})_{1,m};(b_{j}i,B_{j}i)_{m+1,q_{i}}}\right)\right]\right]$$

$$=\frac{(-1)^{\mu}x^{-\mu}}{(q)^{\mu(\mu-1)/2}}I_{p_{i},q_{i}+1;r}^{m+1,n}\left[\left(\frac{x^{\lambda}}{(q)^{-\mu\lambda}};q\left|\binom{(a_{j},A_{j})_{1,n};(a_{j}i,A_{j}i)_{n+1,p_{i}}}{(\mu,\lambda)(b_{j},1)_{1,m};(b_{j}i,1)_{m+1,q_{i}}(0,\lambda)}\right)\right]$$

$$(27)$$

3 Conclusion

The results proved in this paper give some contribution to the (p,q)-algebra and are believed to be new and fruitful for (p,q) analogue and are likely to find certain applications to the solution of the (p,q)-integral equations involving various (p,q)-hypergeometric functions. This research is certainly not complete and should be a starting point of many other researches.

Acknowledgement

The second author acknowledges the financial support by CRS-project TEQIP-III (1-5758410967) AICTE, New Delhi, India.

The authors are grateful to the anonymous referees for the careful checking of the details and for the helpful comments that improved this paper.

Conflict of Interest

The authors declare that they have no conflict of interest.



References

- [1] R. Jagannathan and K. Srinivasa Rao, Two-parameter quantum algebras, twin-basic numbers and associated generalized hypergeometric series, arXiv:math/0602613v, (2006).
- [2] R. Chakrabarti and R. Jagannathan, A (p,q)-oscillator realization of two-parameter quantum algebras, J. *Phys. A: Math. Gen.*, 24, L711 (1991).
- [3] G. Brodimas, A. Jannussis and R. Mignani, Two parameter quantum groups, Universita di Roma preprint Nr. 820 (1991).
- [4] M. Arik, E. Demircan, T. Turgut, L. Ekinci and M. Mungan, Fibonacci oscillators, Z. phys. C: Particles and Fields, 55, 89-95 (1992).
- [5] V. Kac and P. Cheung, Quantum calculus. Springer Science and Business Media (2001).
- [6] A. Odzijewicz, Quantum algebraa and q-special functions related to coherent states maps of the disc, *Commun. Math. Phys.*, **192**, 183-215 (1998).
- [7] K. A. Quesne, V. M. Penson and V. M. Tkachuk, Maths-type q-deformed coherent states for q > 1, *Phys. Lett. A*, **313**(1) 29-36 (2003).
- [8] I. M. Burban and A. U. Klimyk, (p,q)-Differentiation, (p,q) integration, and (p,q)-hypergeometric functions related to quantum groups, *Integral Transform and Special Functions*, **2:1**, 15-36 (1994).
- [9] G. Gasper and N. Rahman, Basic Hypergeometric Series, Cambridge University Press, Cambridge (1990).
- [10] F. H. Jackson, On q-definite integrals. In Quart. J. Pure Appl. Math., 41, 193-203 (1910).
- [11] P. Njionou Sadjang, On the fundamental theorem of (p,q)-calculus and some (p,q)-Taylor formulas, Submitted to *Integral Transform*, arXiv preprint arXiv:1309.3934 (2013).
- [12] P. N. Sadjang, On the (p,q)-Gamma and the (p,q)-Beta functions. arXiv preprint arXiv:1506.07394 (2015).
- [13] B. K. Dutta and L. K. Arora, On a basic analogue of generalized H-function. Int. J. Math. Engg. Sci. 1(1), 21-30 (2011).
- [14] R. K. Saxena, G. C. Modi and S. L. Kalla, A basic analogue of Fox's H-function. Rev. Tec. Ing. Univ., Zulin, 6, 139-143 (1983).
- [15] A. Ahmad, R. Jain and D.K. Jain, q-analogue of Aleph-function and its transformation formulae with q-derivative, *Journal of Applied Statistics and Probability*, **6**(3), 567-575 (2017).
- [16] S. Pathak and R. Jain, Some identities involving (p,q)-analogue of Meijer's G-function. The Journal of Indian Academy of Mathematics, Indore, 39(2), 137-146 (2017).
- [17] A. Ahmad, R. Jain and D.K. Jain, Certain Results of (p,q)-analogue of I-Function with (p,q)-derivative, *Jnanabha*, Special Issue, (2018), 37-44, Proceedings: MSSCID-2017, 20th Annual Conference of VPI, Jaipur, India (2017).
- [18] R. Jain, D. K. Jain and F. Ahmad, Certain results of basic analogue of I-function based on fractional q-integral operators. *Investigations in Mathematical Sciences*, 2(2), 307-314 (2012).